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DAT <- data.frame(
Diagnosis = c("¥3)7", "<*3U7", "I3)7",
"ISYT RS T R, BRI, “Fo T =,
T R, FoLT = AR,
"TUUE "R,
DC=c¢c(1,1,1,1,1,0,0,0,0,0,0,0,0, 0),
BT =¢(38.5, 39.5, 37.2, 40.1, 39.6, 38.2, 37.2, 39.4,
38.9, 38.1, 39.3, 38.4, 38.8, 37.8),
VM=c(1,1,0,1,1,0,1,1,1,0,0,0, 1, 0),
Hb =¢(8.1,10.1,13.1,6.7,7.4,6.8,13.8, 14.2, 7.5,
12.4,16.3, 14.3, 13.2, 15.2),
Hp =¢(7, 14, 20, 6, 8, 45, 35, 29, 8, 15, 90,
94, 21, 103))

if (Irequire(Epi)) {
install.packages("Epi", dep=TRUE); library(Epi)

}

ROC(DAT$BT, DAT$DC, plot="ROC")
ROC(DAT$Hb, DAT$DC, PS=TRUE, plot="ROC")
ROC(DAT$Hp, DAT$DC, PS=TRUE, plot="ROC")
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